€40 1 133HS |

| HAI1X¥8 NMOQ Q104
{

A4

| ONIMY¥GIIVOS ION OQ

"Q3UGIHOY |
S SIIOSSIODV ONAL AUMHH |
4O NOISSIWA3d NALUINM JHL INOHLIM |

HSINK | TTOHM V SV 3O 13Vd NI NOLDNAOY3Y |

WREALYW |

>mm 6CB18OH ‘ON 13Vvd| 3718 s
STINOSSIDOV JDONYL e
31T-H =

ANV “SIROSSIDDV NONL 3UNHH m
40 AL¥34O¥d J10S 3HL S| ONIMVHA |
SIHL NI G3NIVINOD NOIWLYWOANI 3HL. |

i
IVUNIAENOD ANV A3VIIRNIHOdd

.S00°0 ¥ TVWIDIA 3DV1d 333HL
«l00F TYWID3Q 3DOV1id OML

oF aN3g
ol ¥ HOVW JAVINONY
SU/LF TVNOILD Va4
34V SAONVIII0L

"SIHONI NI 33V SNOISNawIa

‘Q3HID3dS ISIMIIHLO SSTINN |




SIGN STOP

SWING ARM A

TOP REAR \
ﬂr -

NGLE

SWING ARM FLAT BAR

PART NO. HC81829 REV

> J
s @
SWING ARM
STOP
¢
+
&
+
SIGN SUPPORT GUSSET
'y
\UPRIGHT ANGLE
BED ANGLE
 UNLESS OTHERWISE SPECIFIED: NAME | DATE
| DIMENSIONS ARE IN INCHES. DRAWN
 TOLERANCES ARE: CHECKED
| FRACTIONAL £1)16' : HI-LITE
AR Npcn 11! ENG APPR.
! FG APPR.
TWOPLACEDECIMAL 001" it TRUCK ACCESSORIES
................. . | THREE PLACE DECIMAL £0005" | QuA. .
PROPRIETARY AND CONFIDENTIAL ENReE
{ THE INFORMATION CONTAINED lﬂ THIS MATERIAL SIZE
| DRAWING IS THE SOLE PROPERTY OF -
i A | FOLD DOWN 5RK LEVEL
| WITHOUT THE WRITTEN PERMISSION OF -
{ HI-LITE TRUCK ACCESSORIES IS AR
| PROMIBIED. DO NOT SCALE DRAWING

SHEET3OF 3




HC81829 Fold Down Wide Load Sign Mount

Hardware List: 3/8” x 2 % Quick Pin (2) Hardware Location C
3/8” x 7/8” Rubber Bumper  (2) e I
3/16” Pop Rivet 2) I
3/8” x 1 Y4 S/S Hex Bolt (6) B
3/8” x 2 4” S/S Hex Bolt “) F
3/8”x 1”S/S Flat Head Bolt (4) = D
3/8” x 14" s/s Flat Head Bolt (2) A
3/8” S/S Flat Washer (26) Use On All 3/8” Bolts
3/8” S/S Nyloc Nuts (16) b
3/8” Nylon Flat Washer @ ' A&B
5/16” x 1’ §/S Carrage Bolt  (4) H
5/16” S/S Flat Washer 4) H
5/16” S/S Nyloc Nuts 4) H
¥a” x ¥ S/S Hex Bolt 4 G
¥4” S/S Nyloc Nuts @) G
4> S/S Flat Washer ®) G

............................................................................................................

Installation Instructions: *** Note: Make sure rack is flush with back of bulkhead of

truck box.

Install up right angles as far apart as possible, keeping
in mind if you have a rack with side bars, the side
side bars continue through the square tube. The bolts
attaching the up right angles must miss side bars.
Watch were bottom of up right angles locate on the
floor of the truck box so bed angles can be bolted

through floor. '

- Rivet rubber bumper on top of sign support gusset first so it does not get missed. It is
important in the alignment of sign.

- Assemble wide load sign bracket as per diagram. Use location chart for proper
hardware placement. '

- With rack installed flush with back of bulkhead, and location decided for up right

angles, measure and cut off bottom of up right angles so M1 hole is in the centre of the
top bar of the rack.

- Mark centre of the lower bar on up right angle and drill a 7/16” hole in up right angle.
M2 _




- Align up right angles so they are square and mark drill points on top and bottom cross
bar of rack. Drill 7/16” holes. Use stop on drill so truck cab does not get hit by drill.
Install with proper hardware.

- Locate best location for bed angle to mount to truck bed floor and up.right angles. Bed
angle can go on right, left or rear of up right angle. Drill M3 hole. Install using proper
hardware.

- Adjust sign support bracket gussets so they are square to up right angles.

- With swing arm angle pinned in the up right position set wide load sign on top against
sign stops. Square sign left to right. Mark hole position on bottom of wide load sign.
Remove and drill marked points to 3/8” holes. Use drill stop so you do not drill electrical
wiring. Install with proper hardware.

- Holding sign so it will not fall down, remove both pins and let sign fold down on to
bracket gussets. Check level of sign and adjust as needed.

- With swing arm pulled stfaight with the sign 1n the down pOSitioh mark where the hole
in the arm aligns in the centre of the up right angle and drill a'3/8” hole so sign can
pinned in the down position.

HI-LITE TRUCK ACCESSORIES LTD
TEC SUPPORT 604-534-3838
SURREY BC
CANADA



